I35y FEERE/NY B m

SUF 70 SI-55 M10x1.25-1G NOO9 ~—

Art.-Nr.: 10.01.01.13976
E#El
Bt |
BZ)\y FOME 20 I b VN
MEOEE [ 3 7A] 55.0 Shore A

\ H4 2 70.00
') MEEE FDASIIS
. TE>

SUF 70 SI-55 M10x1.25-1G N009

BF/)VY FSUR: Ny RICRIYDBD TS NIEIRETHREINET,

ARTNN=Y: /AT L, BEHE=v T sC
FHAYF—8
B fifif&
=S H 17.50 mm
ZL v EG1 M10x1.25-F
TJUyIN—DEZ LG 6.0 mm
2FUVTZAO=-Y2 6.0 mm
12 Ds 70.0 mm
12 Dmax(S) 77.2 mm

FH4A > F =4 SUF 70 SI-55 M10x1.25-1G N0O09

(©  WWW.SCHMALZ.CO.JP/10.01.01.13976

JaARIVWICEREE © ¥ avIVIYKRAET « R/ REEHEHX KHHET3001-7 « +81 45 565 5150 ¢ schmalz@schmalz.co.jp




75y FEERE/Y E

SUF 70 SI-55 M10x1.25-1G NOO9

Art.-Nr.: 10.01.01.13976

(W) s#Es

P N
SCHMALZ
S

[-1:: flif&

B /)y FOME >a—=v3ASI
MEOEE [V 3 7A] 55.0 Shore A
R—R1Z2 (ER) d 6.0 mm
BRNT =T33 (OE6) 100.0 mm
BER D 198.00 N
%7 (-600mbar) 198.00 N
g8 5209
RUa—=LA 18.000 cm?®
Y4 X 70.00
HWEI7IU— SUF

IR B MEOREAIR. 0.6 barOEET. U-VRENEZEL. FETH-QRETOERETH) . R2FAHEBINTEEA R38R

R—RAZRR—ZARSK2MTOETTY,

Q@ zowons

CODREEICATZCADT IS LUV ZOMMDOENT. U TFESEODZ & © www.schmalz.co.jp/10.01.01.13976

@ F=AT7o Y1) —-%EXT 3 10.01.01.13976

Typ

FYFIULT |TVN G1/4-AG 9 NO09

(©  WWW.SCHMALZ.CO.JP/10.01.01.13976

JaARIVWICEREE © ¥ avIVIYKRAET « R/ REEHEHX KHHET3001-7 « +81 45 565 5150 ¢ schmalz@schmalz.co.jp

10.05.10.00065


https://schmalz.saas.contentserv.com/www.schmalz.co.jp/10.01.01.13976

